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Dividing of estate by wide 25 ixF REH B8 Z
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(The original)

Okazaki ryouhei Ohko tsubaki Onuma tsuyoshi
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Question

Answer
Oldest son A 316 koku
Second son A 278 koku

The farmer had a 1200 koku.
He divided it into five children from fifth son to oldest son.

But it is decreased in the same width. y Third son A 240 koku
However, the forth son took over some estates from his Forth son A 202 koku
ancestor. ~ Fifth son A 104 koku

Other forth sons don’t know own estates. ‘i@ Onuma

e How to solve
How many estates do they take over?

A 202 koku multiplied by fifth persons equals a 1,010 koku.

miJll Ichikawa

7L XAk A 1,200 koku minus a 1,010 koku equals a 190 koku.
(Edo culture) So third sons is one, second son is two, oldest son is three, a total is six.
o Minus one from oldest son. 190 koku divided remaining five equals 38
A5¢&1F? Whatis Kokudaka ? koku.

LS (6 =G () x B (5/E) This is the decreasing of width. 202 koku minus 38 koku equals 164 koku.
= 5 (Fx X . ,
SIERATELNEIES &, 290) AR This is oldest son’s estates. And 202 koku plus 38 koku equals 240 koku.
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Ao The unit of mathematics was different from today, but we
Crop(Koku) = Area(Dan) X Output(Koku/Dan) could solve it using X in the same way as today.

The crop used 1in KEdo period has two meanings. =8 .

1 Notation of land(Crop) + * - used in this. AFRFRICIET TICEEGRENFIEINTEY., SHIC ﬂ\t'fab\ﬁ#l,\ft\
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These systems are called Kokudakgsel EMNG IR DANIZELDTHEE iﬁﬁé:'d%%ﬁ@%d)’(&‘;of—d)f—t
When you show the crop, you show the estimate of HAELF-.

crop (volume) by Koku.

Today, rice 1s had dealings by the weight. But, it was
had dealings by the volume 1n those days. These are
difference.

A koku 1s 180L, expression 1n weight 1s 150kg.

2 The size or social of territory

t surprised us that advanced mathematics which like we are

earning today were already learned in Edo period. Also, because
oractical calculations that could be applied at the time of life,

such as the problem of dispensing farmer’s land to sons, were

carried out, mathematics was more familiar to people in the Edo

Kit] Ohko period than in the present age we thought that. AR Ohki

S FHEERIEEERIEX13E  Quotation: Murase Gieki "Arithmetic Justification" (1673)




